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The	storm	caused tremendous	flooding
(storm,tremendous),(storm,flooding)
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Causal cues (53�¸)
A lead to B If A ,then B
A cause B B because A etc...

Á I feltmy heartbeat
ÀMy heart rate sped upI putmy hand to my chest �a
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Á I covered the pot
ÀThe water boiledSteam rose off of the pot of water)2
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log	P b|a = log σ(BC ∗ BD) +F GD~I D [logK(−BC ∗ BDL)]
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The storm caused tremendous flooding
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floodingĐliđ tornado

storm mudslideĐ4nìđ hurricane/tropical

outageĐ�´đ hurricane

doubleheader tourneyĐþďĀĈčþđ

rain +	game unplayable thunder

softball raining

evaporationĐ�xđ 120 f

water +	heat scaldĐéÍÜÏÔíđ 140of

evaporative 120	fĘF^KkĐ�<�đ
ĘScKk w/#�vĐF^KkÛ]
Ê-Ñđ
ĘScKk w/o#�v
ĘWord2Vec w/o#�v
ĘF^KkĐ\x�Ûãä-Ñøďăû® [Zhiyië, 16] đ
ĘF^Kk [Zhiyië, 16]
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ĎĖØ��ß	¥¯ß2a°�ĐA→B→CđïLÇíêÆÞÒí
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I felt my heartbeat
My heart rate sped upI put my hand to my chest �a
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ĎF^KkĘ+( ßCSÊ6ËÅ��ïªM
CS(put, felt) + CS(put, heartbeat) + … vs. CS(put, heart) + CS(put, rate) + …
ĎScKkĘ)2ē�aąõþČ¯ß��Ê¾Å��ïªM
dot(put, felt) + dot(put, heartbeat) + … vs. dot(put, heart) + dot(put, rate) + …
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